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I Multiple choice (¥ £ 4%)(3,4 50 » - * 4% 2.5 &)

1. The price elasticity of demand is roughly measured as the absolute value of:

(@) (% change in Q) / (% change in Y). (b) ratio of the slopes of demand relative to supply.
(c) (% change in Q) / (% change in P). (d) constant slope along all linear demand curves.
(e) infinite slope of a vertical demand curve.

Please answer question 2 and 3 based on the following graph :
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2. Scrutiny of demand curves DD and DyDy reveals that:

(@) DgDy is relatively more elastic at a price of P.

(b) DD is relatively more elastic at a price of P,.

(c) DDy probably reflects the demand for a biological necessity.

(d) DD probably represents the demand for a good with more close substitutes.
(e) price elasticity is constant along DD but not along DoDsy.

3. Relative to demand curve DODO, demand curve DD:

(@) is relatively more elastic than DODO at a price of P1.

(b) is relatively more elastic than DODO at a price of P2.

(c) is relatively less elastic for every quantity that would be purchased by both consumers.
(d) probably represents a good that absorbs a higher proportion of the consumer’s income.
(e) probably has fewer close complements than the good reflected on DODO.
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4. Raising the price of a product will increase total revenue proportionally in the unlikely
event that demand was:

(a) perfectly price elastic. (b) relatively price elastic. (c) unitarily price elastic. (d) relatively
price inelastic. (e) perfectly price inelastic.

Please answer question 5, 6 and 7 based on the following graph :
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5. This profit maximizing competitive firm will:
(a) produce output level g5. (b) minimize total costs by producing output level g3.

(c) experience fixed costs equal to OP3fgs. (d) produce output level g4. (e) inevitably
experience economic losses.

6. This figure is most consistent with the environment confronted by a:

(@) purely competitive firm that makes economic profit in the short run.

(b) monopolistically-competitive firm in long run equilibrium.

(c) firm with oligopoly power that pursues a kinked-demand curve strategy.
(d) pure monopoly that is able to price discriminate.

7. For this purely competitive firm, area P2P1de represents:
(@) fixed cost (TFC). (b) losses, but the minimum possible economic loss. (c) average fixed
cost (AFC). (d) maximum economic profits. (e) the rate of return on investment.

8. A competitive firm will demand more labor if: (a) technological advances favor
automation.(b) the price of the firm's output rises. (c) more firms enter the industry.

(d) the value of the marginal product is below the wage rate. (e) workers employed by
other firms acquire more specific training.
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9. Because resources must be hired away from other uses, the resource supply curves facing a
large and expanding competitive industry are typically:
(@) horizontal. (b) U-shaped.  (c) upward-sloping. (d) downward-sloping.(e) vertical.

10. If the gasoline supply falls when demand for it is rising because vacations are scheduled
in the summer, the result is: (a) higher prices and greater quantity.
(b) higher prices and indeterminate changes in quantity. (c) higher prices and lesser
quantity. (d) lower prices but greater quantity.

Please answer question 11, 12 and 13 based on the following graph
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11.The effect of a price ceiling for peanuts at P, would be: (a) a shortage of Q2-Qo.
(b) a shortage of Q»-Q;. (c) a surplus of Q,-Qo. (d) a surplus of Q,-Q;.

12.A price floor would affect this market for peanuts significantly only if it were set higher
than: (a) Po. (b) P;. (c) P2. (d) anywhere below the equilibrium.

13.If a price floor for peanuts is set at P, then: (a) a surplus of peanuts is generated.
(b) the quantity supplied of peanuts will be less than the quantity demanded. (c) the market
would move towards equilibrium. (d) any price below the floor could be charged.

14.People could most reasonably be viewed as voluntarily unemployed if they:
(a) have the wrong skills for job vacancies.
(b) refuse to work for the minimum wage.
(c) do housework instead of seeking a paying job.
(d) go to college because jobs requiring only a high school diploma pay inadequately.
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15.Seasonal unemployment:
(a) varies because of weather, production cycles, and other regular changes over the course
of a year.
(b) rises for teenagers during winter.
(c) arises during general business recessions.
(d) is the focus of government fiscal and monetary policies.
(e) is frictional in nature.

16.The unemployment rate is defined as the number of: (a) employed as a percentage of the
labor force. (b) voluntarily employed as a percentage of the labor force. (c) involuntarily
unemployed as a percentage of the labor force. (d) unemployed as a percentage of the
labor force.

17.According to Keynesian theory, in a recession or depression, the levels of output,
employment, income, and prices are determined primarily by:
(@) pure market operations. (b) interest rates. (c) Aggregate Demand. (d) Aggregate

Supply.
Please answer question 18, 19 and 20 based on the following graph
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18. This capital market is in a closed private economy. The initial plans of savers and
investors are shown as curves So and lo. Market equilibrium will exist at:
(a) point a. (b) point b. (c) point c. (d) point d. (e) point e.
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19. The initial plans of savers and investors in this closed private economy are shown as So

and lo. Suppose people begin spending less on current consumption and aggregate saving

plans shift to curve S1. A classical adjustment is for the:

(a) interest rate to fall to i1 while both saving and investment increase to 2.

(b) future spending by consumers to perfectly offset the decline in current consumption;

this provides firms with adequate incentives to store all their inventories.

(c) investment curve lo to shift rightwards because of the higher profits expected from

future sales of the extra goods produced by the extra capital accumulated.

(d) fall in interest rates to shift households back towards more current consumption.

20. Any drop in interest rates caused by people’s increased willingness to save will cause:
(a) the rate of return schedule reflected in lo to shift to the right.
(b) the rate of return schedule reflected in lo to shift to the left.
(c) a movement down the rate of return schedule from point c to point e.

(d) a movement up the rate of return schedule from point c to point a. households to
increase their saving.

1. B %40 (G A 504) ¢

1247 FEFF33F7 WIRPF2—- 0 8 vtk #iog- (16 »)

a. NEFEZ AT Fg b M BRI E A TGS Ad RE RS A
WA SR OIEREA T A R

mk??mﬁﬁpw.%iWO

C. um}}g‘]ﬂ e ﬁ%{uﬁ{f epf F;;};} o

d. ot PO iE 24T FTAAET R T AR I AT ?g PR ? ¥ H R

X % m B R
PIF,\;{/H?

=

I

¥

&%@Kﬁ&“SEO%@%iMw@F‘Wﬂ R A I RS
b. A BK % %ﬂﬁﬁﬁﬁﬁéﬁﬁﬁéoﬂ*,@@'é16#%L$mww
Lo % X2 € driv g d ?

R

X

S rd];m;/‘\:hﬂq Fﬁﬂiﬁf}é_ﬂ b *ﬁ]% m.’;@fr, (]5‘»‘;‘}{%‘;7%0 &;%g:@ﬁ:‘?_
SRR B L AR E § PR RIRP L o

K OFHGTEE My

N
>
(6]
R



G g
100 8 E RALFI B4 3333408

g 5H F R P =R

RF &SRR p LY AL ST E=AE (A-3) 100.04.16 10:40-12:20

3UBRK e E enin b2 F fdeT 1 (12 4)
B Q% =4P-80
Z4H:Q =100-2P
ERRNEE S RE-EY §
A H N ME T RY R PR REHEEL LR
b‘;ﬂi’lf}r'fm,ﬁﬁﬂf{ ‘\4;5{_«%{{ e 4
C. Yo%k FCR-Z L pm § T E o RIHE K ‘g;—gm.;gw ?

4, TBRE SR kR ot &\,T*uﬂ)"— e P F R EREAREE (10 4)

A WAL BT ALY d AR LAY f e B o b R 4 £ %
¢ hofe 8 ?

b, T A BRI b BORIE SR E R RS B e 8P E S B

.

B - 3o R FES ARG ol éaﬁv ? g AE S %é\i (60 AR TS H g
WER A L L ¢ RE{HFRILLL

K OFHGTEE My

N
>
(o]
R




